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1. Choose the correct answer of the following :

1x7=7
woTe A W eI A Sieneat g
() A cell becomes turgid when placed in

(a) isotonic solution

Contd.



(b) hypertonic solution

(c) hypotonic solution

(d) None of the above

(1T GO P |/ AT @R U 7]
(@) FAN IO

(b) AR TS

(c) TFAIRI TT©

(d) 'S¥T] OIS T

(1) The water held tightly by the soil

particles around them is known as
(a) field capacity

(b) runaway water

(c) hygroscopic water

(d) capillary water
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Wt =i Ree 2aw viRewice BiHte 4R
N AT @A D

(@) CF3 =T
(b) AARCERA =4I
(c) SESAR) A
(d) s i
(iii) Guttation takes place through
(@) stomata
(b) cuticle
(c) hydathode
(d) lenticel
R oz el =2
(@) aTF
(b) g
(c) ToRT
(d) IS
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(iv) Krebs cycle takes place in
(a) chloroplast
(b) ribosome -
(c) mitochondria
(d) endoplasmic reticulum
(T b NS T
(@) FTIAB
(b) IR

(c) g3
(d) THRIHT Tifern

(vV The oxygen during photosynthesis

comes from water, was proved by
(a) Kamen and Ruben
(b) Hill
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(c) Warburg
(d) Blackman

HICEARTARCETTS AR 21 e sy o7
3 e sfRfeE

(@) JIEA I FBEEAF
(b) f&=
(c) Al
(d) G

(vi) Abscisic acid causes
(a) faster leaf fall

(b) dormancy of tubers
(c) retardation of growth

(d) All of the above
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Gfefes afge T

(@) CAR FCE 2 TI
(b) ITWI A

) Tfemr Ifa afsmy
(d) 89T FICANAR

(vit) Non-protein part of enzyme is known
as

(@) holoenzyme

(b) apoenzyme

(c) coenzyme

(d) All of the above

TR e BN W IRl =
(@) T GTEIRN

(b) G GTEIZH

() FTawenE

(d) 'S°R] SRR
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2. Write short notes on the following : (any
Jour) 2x4=8

Sere AR 5 G & 8 (Ricerzan s1f<))

(@)
(b)
(c)
(d)
(e)
(f)
(@)
(b)
(c)
(d)
()
(f)

Plasmolysis
Role of stomata
Chlorophylls
Macronutrients
Vernalization

Respiratory quotient

SR e e R EA T

WA oS

3. Write short notes on the following: (any
three) Sx3=195

oo Al oo ot ¢ (Riezan feofabr)

(@)
(b)

Glycolysis

Mechanism of stomatal transpiration

3 (Sem-3/CBCS) BOT HG/RC/G 7 Contd.



(c) Photoperiodism

(d) Biological nitrogen fixation
(e) Gibberellins

(@) TNIIRR

(b) IR AT A

(c) iR afsfam

(d) (SRS ZGTEA Ao

(e) fERIRlEH

4. Answer any three of the following
questions : 10x3=30

O RicpeAr fofabt eriq ew 1 ¢

(a) Describe the mechanism of active and
passive absorption of water by roots.
5+5=10

R 2R @[ AfET o Wi earme afem
29 =111

(b) What are essential elements in plant
nutrition ? Explain the role of any three
of them and show how their deficiency
affect the plant growth. 2+6+2=10
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SR Wfie oife s Cerz &2 2o
Ricorey it e ofiret %13 Bl e
TR ARE Sfew 3fee Rme gor coEmm
TG 4 |

(c/) What is photosynthesis ? Give an
account on mechanism of CO, fixation
expressing major steps and the end
products in the process. 2+8=10

ARG 2 CO, Fgglom afdraR g3y

HAETR % R Tesiifre TRPmE Torgrom
IR @b et wife |

(d) Describe Krebs cycle and explain the
functions of various enzymes taking
part in it. 7+3=10

(T 5F I I WS @3 aAferars s
341 [fon Termar =G e 11|
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Paper : BOT-HG-3026
( Environmental Biotechnology)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

1. Answer the following as directed : 1x7=7

ool fraiaR] ot frar «=d ©wx faal ¢

(@) Which one of the following is mainly
responsible for ozone layer depletion ?

() CO;
(i) CFC
(i) CH,
(iv) CO

G B FAR AR MRS @FC61 Al AT
wIg 2

) CO,
(i) CFC
(i) CH,
(iv) CO
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(b) Peroxyacetyl nitrate is mainly
responsible for

(Fill in the blank)

3 IR AT (2=RBaBOI3e 1255
WA | (YT 512 979 1)

(c) For which purpose oxidative ponds are
being used ?

& IR IR @S 43T g = =
(d) Write the full form of WCED.
WCED 3 59 a1 foyalt |
() Who mainly led Narmada Bachao
Andolan ?
T T SR o @i sRite e

(/) Which of the following is responsible
for Bhopal Disaster, 3rd December,
1984 ?

>5b-8 59 © OIS FNB® GoileT (51 TIo~1T
IR Fegre @@= wiEe

() Methyl isocyanate
IERIEG R EIRIaIE

(i) Nuclear explosion

fRNeRT R[RewRd
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(iii) Mercury
A

(iv) Sulphur dioxide
BT CIRSIHIRG

(g) Permissible noise level is measured in
the unit of . (Fill in the blank)

SIS *13 %] AT AR IR I GIFHCO!
@z (071 312 979 +=91)
2. Give very short answers : 2x4=8
oS 5T T ar ¢
(a) What is biomagnification ?
o7 = Wi (e

(b) Write a short note on acid rain.

ifsT I 9w 9 55 Gt &

(c/ What is xenobiotic compound ?

G AT M Ffees F o e

(d) What is the role of central and state
pollution boards.

@Y IR T emEet Akawg it e
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3. Write notes on: (any three) S5x3=15

Gt et ¢ (Rieprzar fofany)

(@) Salient features of the Forest

Conservation Act, 1980

3P I WL, Svbro I Y6 [IRRPTIR

(b) Bioreactors
IVREASIH®

(c) Anthropogenic effect on global

environmental issues

Py e TR (2P AR TR S/
(d) Water pollution

el &vF9
(e) Ramsar Convention, 1971

IR AFEE, d9ad

4. (a) Describe various processes used for

wastewater treatment. 10
AT {1 ARCNG A IR T4 AR
oA 47 |

3 (Sem-3/CBCS) BOT HG/RC/G 13 Contd.



Or /&34t

Write in detail about the role of NGOs

in conservation of biodiversity. 10
@EIFI] AP (57 @b Fwwars il
TR 2R &4 |

(b) Write an essay on biotechnological
approach for management of

environmental issues. 10

AR TR (X I TR e s
(SRYY(& M OF TAT T I 391 741 |

Or/ 924}

Where was Gandhamardan and Silent
Valley Movement organised ? Critically
analyse the impacts and outcome of

those movements. 2+8=10

‘SIHRIMA T N SO ST F©
MRS (2feeT | U3 NNCHET GBIk HSR =
ToITe] OIfGTeId Al 9 |
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(c/ How is economic growth related to
environment ? Explain the possible
measures for better economic growth
without affecting environment.

4+6=10

AR e e Tafe R wisast ¢ w1k

wo Feite € Tafosama ©sfwwz
(ALY T AT DA F[90 |

Or/33<1

Describe the major recommendations
made in Rio Earth Summit-UNCED,
1992. What are the similarities between
Stockholm Conference, 1972 and Rio
Earth Sumit-UNCED, 1992.

7+3=10

ffor R AR em At B 7 a3
1l | O AfET e B9, S5aL ANEER
@ @ s Ay @At I 39 31 |
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